1. &4 f1olA -6 o &t A3 +2 of t-&stes HolM &2
712l e w7

@D -3 @ -2 3 -1 @ 0 A 1



179

A
T'Et;i

0] 7}

el

A

|

o

2k

oA —3X} 311 2 1]

- <t

-

- AN

= —

@ 37 3 470 @ 574 ® 671

@D 270



@ 3 ® 6

3 0



_]

4

AL
A

2410] o)A QEZO = 37 §Ho] X Th] g%o =
U a o 173kt a o Zhe LubE AL

D a=1, (+3)+ (-4) @ a=1, (-3)+ (+4)

@ a:_l,
® a=0,

(-3) +4 @ a=-1, (+3)+ (-4)

(+3) + (-4)



o]
e

(-7 +(—=4)+(+5)+(+2)
{(=D)+ (=D} +(+5)+(+2)

-1+ © |
=[ @ ]

(+5)+(—=4)+(-7)+(+2)

—

_X_l

ol
el

—

_1_1
s
o
E



6.

-8+ 6—-12 + 55 AASHA?

D 9 Q 7 B -7

@ -9



oln

7h)

E»5

® C

: =3

@ B

1 =5

@ A

® E

@ D



op

<t
<
i

ol
0

o

@ 4 3B 5

3 3



b SES S0 AT w7 A A WAL 27
0 1 1 § 2, 2, 25, 3 4.2
b 3’ b 5? k b M b .
1 6
® 0 @-; O-2 @2 02



10. &&= %

At A7}



ol
S
olJ

Njo

ol

= -1+ (-4)

<+
mJ

=ul

@© -1Hth4
@ 2 Bt} -4
® 2 Hrt} -6
@ 0 X1

= 24 (-4)

<
ol
NI

me

=

T

= 246

<+
o

!

= 0-1



12, oh& T4 A e F9 ) 59 gl
RE PRSP, A+B o g2

® -6 @ -4 ® -1
@ 2 ® 4



13. e 3= FoA AAST} obd A0 49

Q -6 © +0.5 @_g
®0 @+£ @ 8
@ -2

@ 17 @ 274 3 374 @ 470 ® 574



(R 25 £0) 2 Uepd 4

Atole] ARl E

2%

7t

al



@ B4 20 4ot o] B4R throl e,

@ 0<b<a? F A% ab ol B5to o 9 b o AL ol 4

Ol AL =3,bh=1Ho|r},
® a o] AYigtat b o] Ahigho] O a 9t b O] Ap= 00|t
@ A 3 T} -4 of f-g5h= HollA T2 A A=
Aol Yt = = -1 o]t}

B Adizro] 7}A; 2k A o 2~

£

o},



